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Correet Option sclected Wrong Option sclected or Not Answered Correet Option

Q.Maz L Minimun Support Price {MSP) was introduced in Tndia in which year? yrA AT TR e () e o ardy Sy w1p
A 1569 1569

B 1875 1575

[+ 1965 15965

v} 1862 15962

O.Mo: 2 Which enzyma is responsibla for the ripening process? T T T 3 T i 5 U SER i

A pelygalacturonasa oieititagae

B glycophosphatasa TR e

C lactase e

o] phosphatase wiER

Q.ilo: 3 The lawest cammon denominator of a test Is otherwise called: | el aflaui b wrerd) e amia e 9 gart wedl F sy s &

A Baze i w

B Ttem HEEH
o Stem |®

] Root T

Q.o: 4 Rad and Far-red light abserbing, bluish photorecapter, which is present in the cytossl of plants, is: T U Ga ST U H a0 9, b e el B e e e e A
A Cryptochrome ferdmm

B Chlorophyll R

c Carotencid Lot

D phytochrome wgEEH
|Qno: 5
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For reqular bearing in mange which chamical is recammended
Paclobutrozaol
Mancozeb

Cycocal

@O0 W B

GA3

Wzriable costs are the sum o
L. Marginal cast

Q.Mo: &

IL. Fixed cost

III. Awverage cost

Only I1

only T

(o =T

Only III
AllT, IT and IIT

o

Quio: 7 Blue - green alga= grow best in;

A Jute

B Lowland rice
C Sorghum

) Upland rice

Q.Ma: & Which of the following madel describes translocation through paloemy

A Pressure flow model

B Phloem unloading model
C Phloem loading model

o Sucrosc flow model

Q.Mo: 9 Plant growth regulater used far fruit thinning

A C2H4
B A
[ NAA
D GA3

Q.ia: 10 Which of the fallawing Frulk Is nat suitable for jam making?

A Anala
B Lemon
i, Mango
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Q.ia: 11

A

Quito: 12
A

=]

Q.Mo: 13

o 0O W

Q.ia: L4
A

"

Q.o 15
A

B
[
n]

Q.Ma: 1§
A
]
C

Banana

wWwhich among the follawing harmaone, is transperied in polar manner and also requires carder proteins?

Auxin

Cytokinin
Abscisic acid

Ethylena

The wild grawth af is checked with Cochineal insect in Australia
Aphlds

Scrawwarm

Eichhomia

‘Opuntia

Which of following is a cash crop?
Tea

Whaoat

Rica

Sugarcana

Chlorosis in plants Is caused due to deficiency of
CaO

BEP

N &Mn

Mg & Zn

Dpporlunily cosl it-
Cost of supplemantary enterprisa
Cost of production
Cost of cultivation

Cost of next bast alternative foragone

Critarla of essentallty by given by:
Arnon

Jean Baptist

Liegbig

Tl Ve Esnlne
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Q.Mo: 17 Participatory plant breeding (FPB) is what type of program

A When farmers ara i lvaed in a crop impr programme with epportunitias to make decisions and contribute to
the research process at different stages

B Crop Imprevement programme in which farmers need to take permission to produce stress registant crops

C Crop improvement programme in which farmers contrbute anly in rescarch proccss at different stages

C Crop improvement pragramme in which farmers get opportunitics ta grow crops of different varicties

Q.Ma: 18 Inanca of hill slepes soil crosion cen be controlled by-

A Strip cropping

B Linear centour ploughing

[ Step farming

o Deforestation

QUi 19 Which armonn e following revolulions is relaled 1o Terilizers?

A Silver Ravolution
[:1 Pink Revolution

c Grey Revolution
&) Golden Revolution

LMoz 20 “Cevine” and "Collego” ara twa agrculzural substances waork by producing toxic compounds that dissolve the cell walls of targar
A Bloherblcldes

<] Chemlcal fertllizers

< Fheramones

o Insecticides

Q.M 21 Fertilizer use efficiency in tronsplanted rica is

A 75%
B 8590
C 25%
s 50%

Q.Mo: 22 Artlva soll farming factors would include:

A Time and vegetation

G wvegetation and climate

[ Vegetation and topography

o Tima, topography and climabe
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QMo 25
A

[al

Q.Mo: 26

LB o T =}

Q.Ma: 27
A

B
c
n]

Q.io: 28

A
B
<

The plantatian in 2 huge mannar to prevent soil erosion against wind and severe waather is callad-
Shelter Belts
Contour Farming

Strip Farming

Farestation

Microbizl decumpasitivn of organic mather is colled;
Vermicompost

Humus

Biofertilizer

Manure

i Which of the follawing |5 the smallest order of class Insecta

claroptera
Coleoptera
Zoraptera

Hemiptera

Self-incempakibilily dows nok esist in which manae varaly
Mallika
Chausa
Langra

Dashehari

Attleude scales are used to measure:
Judgement

Fact

Reality

Opinion

Titing the process of photosyrthesis, Oy is evolved fror F20O, This fact was sxperimentally proved
by-

Joseph Priestley

Jan Baptist van Helmont

Melvin Calvin
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D Ruben and Kamen w4 A T

Mtzgenase is an important enzyme for nitrogen metabolism and catalyzes nitrogen fixation,

©.Mo: 29 However, It s an cxyagen labile enzyme. Which of the follawing protects nitrogenase from ACRA EEIREE & AR s A S 3 A A Rl ) Sl s B e, Oz um ey e wdve 3 AR ¥ D e e
axygen?
A Leghemoglobin B
B Madulin wighm
C Ammaonia it
[+] ATP ATP
The cebts which are to be repaid within 2 short paricd (2 year or less) ara referred to as: T =it = S Sl (T o S ) R e gy, ¥
L. Current Liahllitles L delii el
Q.Mo: 320
1L, Fined liubilities 1, &% et
II1. Contingent liabilities 101 A& Sramet
A Al I, 1T and T1T Tl 1,11 oflR 111
B only 1 FaA 1
[ Only IT Fad 11
o only 11T Fra 111
Q.nlo: 31 Which sprayer Is used suited for spraying operations I kikchen garden Sl 10 e 185 7 Ragan & [y guys &
A Rocker Sprayer T T
B Hand Sprayer ggﬁiﬂ'
C Hand Pump #zum
] Knapsack Sprayer AT A
Moz 32 The seed rata for summer mungbean or graengram is TR I R T A e B e
A 35 = 40 kg/ha 35 - 40 i 7 Fw
B 30 = 35 kg/ha 30 - 35 fm 7 FR
C 10 - 12 kgtha 10 - 12 fEmaRm
o 20 - 25 kg/ha 20 - 25 Ry Ewtay
QoMo 33 Apsraximately what raction of Indla's tetal ediple ofl demand is met threugh Imperts? i S gl e o] et i e R Rl i B s g B i 82
A 30% 30%
B 20% 20%
(o S0% S0%
] 60%: 60%
| Q.Mo: 34 Economics is the Science of Wealth” wha gave this definition? T i B 7 TR e o = R
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Robkins
Marshall
Adam Smmith

oD O m ®

J. K. Mchta

Q.Mo: 35 Soil cualily is génerally enhanced by grealar

A Soil structure

B Soil texture

C Water holding capacity
(v] ‘Organic matter

LMoz 36 The new name of VLW |5

A VEQ
B VDo
C oo
n] VDWW

Q.Mo: 37 Ganerzlly maize produces nurmber af interrodas

. 18

B 14

C 20

¥ i0

).Mo: 38 The first state In [ndla to intraduce Tminng and Vsl system was 2
A West Bengal

B Rajasthan

C Uttar Pradesh

¥ Bihar

).Mo: 39 Buffering capacity of sail means resistance to 2 change in:

A Soll pH
B Base saturation

B Sall mlerablal ackvity
=} Sall acldity

Quin: 40 Sorme plants Tulfil teir nitrogen recuiremaent by o

A
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Carpiverous plants

B Parasitic Plants

(2]

Omnivorous plants

[H] Homiparasites

Q.Mo: 41 ICAR - sugarcane braeding instituze is ona of the cldast research institute and is situatad in

A Kanpur, Uttar Pradash

G Hyderabad, Andhra Pradesh
C Pune, Maharashtra

o Colmbatore, Tamlinadu

Q.MNa: 42 Stomach palsens have gradually een replaced by synthetic Insecticldes, w

A caleium arsenate
& ratenone

E naphthalene

C chloroplerin

QuMo: 43 Soil fertilty caes nat depend on:

A Biological condition of sail
B Physical condition of soil
< Chemical cendition of soil
D Climate

Q.Mo: 44 Which statement is not true about aguaporins?

A They are located in both the plasma membrane and the tenoplast.

B The watear through ins is always active.

c The abundance of aquaporins in a plant cell varies with envireanmental conditions.
C They facilitate the movement of water across membranes.

QMo 45 Farmers can prevent 2nd slow down soil erosion by
Flant crops, plants, etc. to hold the soil in place
Cut down all of the trees and crops.

Water the soil cveryday in erder to way it down

9N m B

Cover their crops with a tarp

{.Mo: 46 Which soil is develaped in areas with high temperatura and heavy rainfall?
A Black Soils

Rad Snile
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Q.Mo: 47

o0 N oo

Lo 48

oo D

(2l

Q.Mo: 49

(= -]

Quio: 52
A

Laterite Soils

Loamy =oll

Wiral diseasa transmitted by seed is
Dia Back

Psorosis

Exanthema

Canker

The Effect of kinetin in delaying senescence is callec as:
Rlchmond-Lang effect

Rlchmond-Thimann effect

‘Wickson-Lang effects

Wickson-Thimann effect

ihich amang the follawing 15 nnt & key response shown by cytokinin?

Cy inins usually p the ion of stams
Cytokinins stimulate axillary buds to grow into branches

Cy inins delay the of leaves

In cell cultures, a high cytokinin-to-auxin ratio promotes tha formation of shoot=

What is called for the matuse seils which are arranged in 2 series of zonas?

Sail

ayers
Soll zones
Soll horizons

Soll benches

1 Which is the most effective and piraticzl way to raise the PH of acid soil?

Calcium phosphate
Lime
Phasphorus

Calcium mono hydroxide

Age, Sex and casta indicate;

Class status
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Q.Mo: 53

[~ o T -

9 N m =0

Q.io: 55

L= T - ]

Q.Ma: 55

o n o

Q.io: 57

Q.io: 58
-

B

Achicved status

Social status

Ascribed status

Who has given scarcity definition of economics?
Robertson

Adam Smith

Marshall

Robhbins

Bast time far sowing decp water rice is
Mid June

Mid July

Eatly August

Last week of June to first week of July

What is India's rank in tha glebal groundnut production?
Fourth

Second

Third

Flrst

Tha third tlee of Panchayat Ral is:
Black Panchayat
Panchayat Samlitl
Gram Panchayat

ZillaParishad

‘inegar concentration should net ba more than
10%
%
8

5%

Which of the following is the post harvest physioclogical disorder of manga
Sap Burn

Internal Mecrosis
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c Spangy Tissue
] Black Tip

Q.Mo: 59 Freecam fram variable errors is known as

A Reliability

B Sustainability
< Validity

(v} Cradibility

Q.Mo: @) Pusa hybrid 4 is a varisty of:

A Banana
G Potato
C Tomata
[+] Brinjal

“Econemics |5 a sclence” the basis of this statement is
L. Relation bebroen cause and effect
Q.o 61
II. Deductive and inductive mathod for the formations of laws
LII. Experimants
only I
only ITT

All I, IT and IIT

o0 m P

Only I1

Q.ia: 62 In India, Tank irdgation is moro cormmon in which of tha fellowing regions:

A Arid and Semi-Arid regions with scanty rainfall

B Coastal regions with regular rainfall

C Rocky plateau regions with uneven and highly seasonal rainfalls
(3] Regions with presence of perennial rivers and plenty of rainfall

.Ma: 63 In India, which bype of maize is mainly grown

A Dent Corm
B Sweat com
c Flink Corn

C Waxy corn

QN 64 Mosl predemingnl crepping system in India is
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n Sugarcane - sugarcana I - T

B Rice - wheat o -

c Arhar - mung T -

o Rice - rice T - W

Q.o 65 Which of the following is not a category of seeds? FrfET # AT A W A
A Foundation sceds FRE #

B Cortified soeds R e

[+ Edged seeds YRER (TE) &
o] Breeder seeds HigT dhar

{.Mo: 66 Broad-spectrum Insectiode obtained from neem plant is 7 % @ uw AlE
A Malathion Henfrr

B Azadirachtin srafezrare

C pheromane i

o} Pyrethrald TS

Thi Mobel Prize in Physiology or Medicine 1948 was awarded ko Paul Hermann Milller for his discovery of which sigh efficiency

Qio: 67 Giion AGainLE EevEral s [ TRiIEia @1 DR 5 =Ee st 1948 HiE B gad o o Aoy & Faans 3@ em o [ wids o sl W
A Pheromone Il]ﬂ’l'q'ﬂ:[

B Malathion 'ﬁmﬁj’uﬁ

c Pyrethrum TR

D DBT Eicic]

P felic incos hilite remch f ocllen i 5 At lenis : : o 3 5
Quo: 68 5L.0|<Z!|) wl.uc incompal :bulul\ _ue?c,u.on o ?c len sng.o\.c'e.n]efi Lw. lI.\‘ genatype or.lhe .pla_ﬂL an which the pallen is T R T T TSR 5 O ST T R R T T w5 S S 2, 7 T i e g weet ER A
produced, @nd nok by the genotypa of the pollen” was frst repered by o parthenium?

A Gerstel, 1950. TR, 1950

B Babcock, 1950, FFFiT, 1950

C Maldal, 1950, fieEd, 1950

o Hughes, 1950. WU, 1950

Q.Mo: 63 Which types of sails have maximum ameunt of water retaining capacisy [t vt 8 o) 0 et sarur & o ) cFirrares o 0
A Mountain soil ugre oft fndt

B Regur soil e fordt

C Desert soil it fgt

o Alluvtal soil e fgt

Q.Mo: 70 The pro

s of inkroducing, stably intecration and expression of Fareign genes in the olent. produces transgenic plants and is celled- | T3 7 FRET 99T 1 09 00, TR T0 9 TR SR S50 91 Wi SRrat e 9 5 e Tl AR W
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@ 0 m P

Quo: 71

Lo 73

Quio: 75

LR« T =]

Q.o 76
A

Slngle call hybrldizatlon
Gene expression
Genetic transformation

Transcription

Which pesticides are non-biodegradable and also called recalcitrant pesticides
‘Organochlorines

dalapon

Trlazines

malathlon

Black sells are black in colors due to humuos, Teon and
Phosphorus

l‘\lll‘rngnn

Sulfur

Aluminum

In the confusicn technique pheromona coated paper sTrips are Ewown over an area to
cenfusa male female insect both so that they are unable to locate each athar
cenfuse male insact to repal

confuse males Insects so that they are unable to lacate female [nsects

confuse female [nsect to repal

Which of thi follawing 15 the Best featilizer for basal agplication in paddy puddicd fleld
Caleium Nitrate

Ammaonium Sulphata

Di-ammonium Phosphate

Urea

Which is nok o krait that should be incorporsted in @ orep plank?
Increased yicld

Resistance to pathogens

Dacreased tolerance to environmental strasses

Increased toleranca to insact pests

what is approximately share of India in the global agri-trade?

9.0%
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B B.5%% B.5%

c 2.5% 2.5%
o 4.5% 4.5%
QuMo: 77 Which of the following is not communication process: Fraafea # 4 FF o6 A
A Encading EABIET
G Source i
c Meatings ECrd
o Transmlsslon Tt
Q.Mao: 78 Optimum seed rate for pigean pea or red gram is a9 A 3 g A s i oy e
n 25 kg/fha 25 foFm  EwT
B 15 kgfha 15 formr BTy
C 20 kg/ha 20 fFm g
o 10 kg/ha 10 fir e
The variable cost 15 a component of total cost, ancthar 15 7 Gl e G e T ] U e B, g e L
I Margirial cost L. ¥ T
Qo 79 .
II. Fixed cost 11 e 2R T
[LL. Average cost 111, SHIERT FATT
a only 11 Fram 1L
B All T, IT and 111 |ft 111 e 1nx
c only I Fa 1
D Only 11X | Fm 1
Q.Mn: 80 The rmain aim of plant braediong is ) Z ) ) - T AT é
A to control pollution Wﬁﬁqﬁamﬁ%ﬁr\:
B to become maora progressive T W ¥ R
[+ to produce improved varietias Z Tt o1 e e & fa
M) to make soil fertila fert 1 T T e
which theory is generally tncluded under micro economics? il T R Rl o s el (Wi saATad) % sivia waile R wi g2
L. Price Theory 1. 4 g
Quilo: 81
II. Incoma Theory 11 M FE
1. Employment Theony 101 MR HEht
A only 11T Fad 111
B only 1 AT 1
T S
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C All 1, 1I and 111 HHILIL AR 1L

5} Only IT Faw I

.oz 82 The geretic mzberial lezds to produckion of sterile hybrid on crossing with primary gene peal is called- TR T TH WY SR T W ST A Y w5 T Sme 9 ¢ O e a2

A Primary gene pool M o 0|

B Tertiary gena poal Tt o

C Sacondary gene pool Hentie o Tq

D Gene axpression N sifmate

Q.No: 83 What Is the main purpase of huffer stack in Tndia? W H W I O R R

n To provide farmers a place to save food grains Trmmit 3 R Ty = o Ay S e

B To increase the productivity of feod grain T T IRTEE AR

C Tao reduce food price fluctuations T PR TAE-TE W W

o Ta save food graing from environment threats ST T G i Wl =

.oz 84 The naturally occurring contact insecticides developed from tobacco g B vk T AU At 8 |9TF S

A DDT 2t

B rotencne AR

< nicoting e

8] pyrethrum TTETHT

Q.Mo: 85 Arrancement of sall particles 18 referred ta as: R EH R T T

I Soil arganization Tergh wft mmre

B Saoll texture ﬁ@aﬁ T

c Sall structure Fergh ft v

o Soil profile fordl =t e

0.0z 86 Seed rate required far Lransplante: oear milket s it s i S (e et sher ) ARy 2 §

A 1 ka/ha 1 fmy

B 10ka/ha 10 frm ity

[ 2 kg fha 2 i

) 5 ka/ha 5 frmimm

QuMo: 87 Which of the following is a differenca between chiorophyll "a” 2nd chioroahyll 'o% P & & i woies a0 o A b A YW A e g

n Chlorophyll 'a” has methyl group at IT pyrrola, cl phyll ‘b* has yde group at II pyrrole e far ¥ 11 g ﬁ’ﬂ%ﬁ'ﬂ"ﬁf #a %.. W FER I b i \!ﬁ'ﬂi&' E 11 g U e

B Chlorophyll 'a” has 4 pyrrole rings, whereas chlorophyll 'b" has 6. e far ¥ 4 T m?‘ﬁ:‘(ﬁ s FERiE B 6 d #

C Chlorophyll 'a” has Magnesium ion in the centre of porphyrin ring, whereas Chlorophyll 'b" has Calcium i rar ¥ Wi f i S I it e der %, wafe TR b 3 iz g
Bhutal tail nf chlnranhull 'h' is shortar that nhutal tail of Chiaranhyll *a’. FARIEA b F ERAT 20 FANTE = F G A W A
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o

Q.ilo: 8B Apomixis is a Form of asexual reproduction that ocours vis seeds TS R T WA U e § A e € w
A In which embryo develops with fertilization Ferert At % A o fepfea e &

B in which ambryos develop without fartilization Ferert syor e e & e @ ¥

C In which a plant ps by macropr i Terert o ey AT T A we

5] In which development of plants is by vegetative propagation. e Eﬁﬂﬁﬁﬁdﬂm'ﬁﬂ W ﬁm?‘lﬂt %

.oz 89 Optimizing the use of farm resources on an individual farm leval. It 1s a [E N e R i B T A e B e R R e TS T A
n Agreultural marketing qrﬁ e

B Production econamics FATE AT

c Farm management T wH T

o Macro economics Wt anfam (R g

e i i ion s i 3 i 2 F L i ing the bransfer 2 o R N & g 5 3 o
Q.na: a0 The cireck manipulztion of genes in a plant ko change the genetic makeup of colls, including the transfo QUTUTFIWﬁﬁ?TﬂH%TUT\'OﬂmTHH?FAnj?ﬁrﬂ?ﬁ’-’?nruaﬁm#ﬁrqmmnﬁ,ﬁﬂﬁﬁm&w%mﬁﬁmmwﬂmaﬁ&fﬁﬂ e

af genes within and across spacies boundaries to produce tmproved varisty is czlled

A Genetlc drift arrpaRReT e
B Gene flow el ic]]
c Gene fluctuation e # Fame-TeE
o Gene modification =i T
In ease of fixed Cost unil the guantity of oulpot is measured,.? _:"I"ﬁa_ﬂif i FRF 51 T Temes w1 T e .
1, On tha horizenkal 2xis | 1. i s
QuMo: 91
IL. n the vertlcal axis L1 iRy o
[T, O Lhe £rmss axis TIL. Wi A v
A only II1 ) \ W B o o T |#mmm
B Only I A1
C All T, II and III (wnft 111§t 1
[ Only IT Fmo
.0z 92 Continucus heavy rainfall leads to the formation of: T T S g E e T i
A Sodic seil e feedt
B Acid soil v Rt
C Saline soll Tty firdt
o Saline — sodic sofl T - i Rt
Q.Ma: 93 The smallest unit af content analysls 13; ot Flediau o vad @) 5945 82
Trama sz
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[0

(2l

LMo 95

Q.Ma: 97
A

B
C
o

)Moz 98
A

B
C
]

Q.Ma: 99

Characters
Theme

Waords

In which climatn soil develops slowly T
Windy seagon

Summer season

Cold season

Rainy season

Which among of the following is bottom up plznning:
Coast sharing approach

Community speclalized approach

Tralning and visit system

Farming system approach

The ancthar namea of acic or allkaling soll which is used to designate hard and intractalile soil is

Bangar

Khadar

Regur soil

Kallar

Light-stable synthetic pyrethroids, which is registered to contral mites
Monocrotophos

Malathion

Cypermethrin

Toxaphene

“While Dudd” of raizo is @ deliciency sy ploem of
Iren

Zinc

Phosphorus

Patassium

Daficlency of several elements is exhikited first in the anplcal ragion of the growing part due to their:

Ferrmardabln mobeen
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Qu.Ho: 100
A

i)
[
o

Q.Mo: 101

o N om

Q.M 102

LB o T =]

Q.Ma: 103
A

2]

Q.No: 194
A

B
C
D

Q.io: 105

A

hitpsfmppek.chexams.comMPPEE_Cand_Objections/kkr_candUbjection/ViewCandResponse. aspx

Mobile nature
Autolysis

Translocation

“Rebort” is eszential for
Fruit Canning

Jdam

wine

Vegetabla Canning

Thiz battle of Plagsey was fought bebtwecn which of the follawing?
Sirajuddaulah and Mir Jafar

Mir Jafar and Robert Clive

Mir Jafar and Mir Qasim

Sirajuddaulah and Robert Clive

At the incaption of the Constitubion of India, the lagal 2ne to alinible to vote was -
18 Years
20 Years
21 Years
25 Years

Who Is the author of the bock "Indla 2ivided™?
PL. Jawaharlal Mehru

Dr, Rajendra Prasad

br, 5. Radhakrishnan

Vallabhbhal Patel

Who is the author of the novel *T Shall Mot Hear the Nightingale™?
Khushwant Singh

Vishnu Sharma

Arvind Adiga

Vikram Seth

Fundamental Duties were inserted into the Constitusion of Indiz by which of the following Amendment Acis?

78T Amendmen: Act

s g

A wp
s PG

et o Rk

it g Pl & @ Rwrs b o ae
fRTEta ot T e

e wEw s TE T

e wwy s Hiv witm
Rerregeen ot el e

‘nﬁ[‘b‘aﬁin‘l T T ¥ T, el I.':Il-,q'l; GREE] 'PI-',;:Ii TAA-
187
20 9
21 9=
25 9

iz Raisier e ¥ S o 5
o, wETE W e

F TR TR

BT T, TG

TTFHHTE G

3T I E R T R I S b
A i

Tyt

agfig wfam

fwn

o aladl o PR 3 9 B deies sfRRn grn s dRym U simRe B ay

Faut T st
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Q.Mo: 106
A

G
C
n]

Qu.Mo: 107

(=2 T~}

Lo 108

LMo 108

]

Quin: 110
A

B
C
(8]

Quito: 111
A
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14* Amendment Act

4= Amendmenr Act

2% Amendment Act

Formatian of & mountaln i caused by which of the fellowing forces?
Dlastrophle Forces

Sudden forces

Erosional Forces

Depositional Forces

Mark tha comrect match of bribzl dance and thair trikse.
Lehangi - Kokru

Bhagoria - Saharias

Thaapti = Ehils

Karma and S

= Gonds

Whe amang the fallowing added a new dimersion to faod security and emphasised the “access™ ta food through what he called

entitlements?
Abhijit Banerjes
Kaushik Basu
Amartya Sen

Jean Dréze

Which of the fallowing tennis-players is alsa known by the nicknama "The [ce Man"?
Jimmy Connors

Roger Federer

John McEnroe

Bjorn Borg

Tho Agra Fork is builk of -
Pink Jaipuri Marbkle
Red Sandstone
Granite

White Marble

Rabi Crops are grown in which of the following seasons?

Spring Season

Fa4] MY HIYHYH

447 wRiTe ST
4241 TR

sodfet a0 PAlor Al Fa 8 R men 3 snem a1 §2
T T T

M A

T

g

N — FRE
ARTITERT « HETht
el st

wuf o et - TiEf

i B

SmfiEE 7 E fr e e G U T A S A U O R T R S, T S ThaR] w12
Edcickoei

| Tl T

e T
wi i

FmfEfa ¥ & i T g 1 g g f9 Jus 8 O e e g
ferelt il

Hrer vy

i

il it

I ST TR

Wi ST

T = T e # R O I T o 8
FHT T
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[ Rainy Season T W

C Wintar Season NG BY

o] Summer Saason il & diey

Q.io: 112 The policy of ‘paramauntey’ wias Initlated under which of the following gavernar general? FufRen 4 8 B dade anie B agd adien o R e o) ad

A Lard Curzon i w

G Lard Dalhousle wid wergtet

c Lard Hastings g afEEm

o Lard Minte i it

Q.Mo: 113 Which of the fellowing activity is a part of the Secondary sector of economic activities? ﬁam‘r@ﬂfr@ T T TR s i e a = e
A Mining |

B Banking :aﬁﬂl

c Flshing | e

o Manufacturing Tt

Q.o 114 IL;II[::_ErE:tllnl_lFleL;II'—t.alll;vLleng\f;I_r)lll campaigns did Rajnzth Singh virtually inaugurate more than 57,000 vaber s_lrucLul.'L's in Madhya i Fsfoil 23 g oo & oo T G 3 e 2031 & R 189 7 57,000 £ o v S # A Soue
. Jalabhishekam Campaign T E MR

B Har Ghar lal Campalgn % oy o aifier

[ Mal Se Jal Campalgn T 9 G s

8] Jal HI Jeevan Hal Campalgn ot 3t st & arfiroer

Q.Ma: 115 Siroe which vear was the constructien of Fort Aguada started? ammparel fadh a7 P s ad @ e gan wie

A 1534 1534

B 1825 1825

c 1701 1701

D 1609 1509

Q.Mo: L16 Who out of the following captured Gwalior after the Battle of Fanipat in 17617 Frmttea 7 £ ffr 1761 7 ORI F1 W F Ee wiR T e e W
A Jayaji Rao Scindia TR e it

B Mahadji Scindia ATt Rt

= paulat Rac Scindla Sreret et Fffera

o Ranojl Seindia et Riftrar

B0 17 e erensvam s g s e e ey T T RS 5 1 07 5 18 A T 001 o S22 21 0 9 e o
A 42% Constitutionzl Amendment a2at wfaum Hutue
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B 51 Censtitutional Amendment 51 WA W

goat HiguET dyT

C 60% Constitutivnal Amer

o 44 Constituticnal Amend Aam Wi wHe

A es=ntence has besn given in Ackve, Passive Vaoice. Out of the four altematives suggested, select the one which best expresses the same santenca in Passive/Ackive Voice,

Q.MNa: 118
W is knocking at the dooe?
A By whao the door is being knocked at.
B By whom the door is being knocked at.
C By whom the door was knochked at.
] By whom the door is knocked at.
{£ut of the given options, choose the most appropriate word/set of words to fill in the Blank.
Q.o: 119
His autstanding performands he show.
A stole
E have steal
c have stale
o hag steal
In the following guestion, a sentance has been given in Active/Pessive Voioe. Out of the four alzermnatives suggested, select the one which best exp the same sentence in Fassive/Actve Voica?

Qo L20
Peaple believe that Snzha is a cube girl.

That the people are cute is believed by Sneha.

That Sneha is a cute girl was believed by the people.
That Sneha is a cuta girl is believed by the peopla.

LB o I I

That Sneha is @ cute girl has been balieved by the peopla.

hut of the glven optlons, choose the most 2ppropriate word/set of wards o fill In the Blank.
Q.o 121
The bay, the hall.
have caught
hasg eateh

have catch

o 0 m B

caught

In the following guestion, a part of the sentence may have an erron Find out which part of the sentence hae an error and select the zpproprioka eption. IF a zentence is free from erron seleck Ne Emon
Quio: 122
The purpose of AMRLUT yojana is to ensure that every household has accessed to a tap with an assured supply of water 2nd a sewerage connaction.

A MNa errer.
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B every household has accessed to a tap with assured
c that supply of water and a sewerage connection.

[H] The purpose of AMRUT yojana is to ensura

Eelect the mos: appropriate option to fill in the blanks.

Q.o 123
Globally the domestic cat ona of the most ubiquitous mammals.
A am
B Is
c had
v} haz
Qut of the given options, choose the one which is the correct active voice of the sentence given below.
Q.Moz 124
The assignment had nat b=en completed by me.
. Tha i Was not by me.
B 1 had not completed the assignment.
C I had not been completing the assignment.
) I have not completed the assignment.
Qut of Lhe given oplions, chaese the ane which is the correcl active voice of Lhe sentance given below.
QMo 125
Is a letker wrillen by you?
A Is a letter being written by you?
B Do you write a [etter?
c Are you writing a latter?
(M) Did you write a letter?
Select the mos: appropriate option to fill in the blanks.
Q.o 126
Indulgencs In anythitg may prove to health.
A tepetition
B injuricus
[ outspoken
5] wvaracity
In the following guestion, a part of the sentence may have an error Find out which part of the sentence has an error and select the appropriabe option. If a sentence is free from error, select *No emart.
Q.io: 127
A gpecial carmmande farce are heing guarded the famous Cathalic Church in France.
A Catholle Church In France.
R are being guarded the famous
[ Na errer

P R "
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In the follewing guestion, a part of the sentence may have an error, Find out which part of the sentence has an error and select the approprizbe option. IF a senkance is free from errer, seleck Ne Emon

Quilo: 128
Ecoromisks rgus cver the vexed question of how to reducing spanding.
A Mo errer.
G the vexad question af
[+ Economists argue over
(1) how to reducing spending.

Salect Le most approprizle oplion 1o substitute the brackel segment in the given sentznce, 11 no substitulion is required, se’ecl No improvernent,
QMo 124

Plzacze turn (off) the velume af the Radla, such that It s not quize so loud.

A down
B out
| 4 In
C Ne improvement
Seled Lhe mest approprizle oplion Lo Gl in the Blanks,
Q.Mo: 130
Hiz success may be atkribubed ta his
. iligence
B colonial
C highway
o highlight
Select the mest appaeprlate aptian to substitute the hracket segament in the given sentence. If ne substiiution Is renuired, se’ect Mo Improvement,
Quio: 131
Ewven zg 2 young boy, he [has lacked) the indinaticn to go cutdoors and play.
A lacked
G was lacking
c Mo improvemeant
s} lacks
Lalach the most appaopriate aption to substitute the hracket segmant in the given sentence, 1f no substiiution |s required, select Mo Improvement,
Q.o 132
She prefers coffee {to) tea.
A than
B Mo Improvement
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Q.ia: 133

(2]

Q
5

2]

Lo 134

Ma: 135

QMa: 136

m B O

2]

Q.M 138 Which of the fellawing is a process in which water Som any source change inte vapour stake "doe to heat'?

hitpsfmppeb.chexams.comMPPEE_Cand_Oblections/kkr_candObjection/ViewCandResponse. aspx

LMoz 137

for

ovar

{ut of the given options, choose the most appropriate word/set of words <o fill in the blank.

The bay an the bumiag deck,

have stand
stood
have stood

has stand

Which of the following is most correct about & balznced dies?

It should have minimum proteins.

It should have carbohydrates, proteins, fats, vitamins, minerals and fibres.
It should not have carboehydrates.

It should naot have fats.

Which of tha fellowing diseases can NOT be spread through air?
Conjunctivitis

Tholera

Mumps

Influenza

Tanya throws a ball vertcally upwards, which rises to a helght of 60 w1, Which
of the following statemenrts is NOT correct? [Take g= 10 ms?

Velocity is zero at the top.
The time taken by the ball to reach tha highast point is 5 seconds.

The bal was rown upwards at an inidal velecity of 32 met apores.

Accaleration is constant throughout the motion.

Which of the following mixture Is burnt ta produce vary high termperatures and are usad for cutting metsls and for welding?

Oxygen and acetylene
Oxygen and Sulphur
Oxygen and Nitrous Acid

Ouygen and Ammonia

Mumidifiratinn

gl orer F i A FefEs 49 $h T 999 98 T i

T A A T

Al FEEgT, W, T, |, = o wee g oy
el ST e g Ay

g g

o] | B

[ E I R R R T T RS SIET
Reccio o)

b

T

ATFT U TR A FEE =0T A T §, 7 60 Hew £ A 9% 254 gl wateiy 5
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g grT S fig W wgT o fer o w5 HeE
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QuHo: 138

o n @

Q.Mao: 140

LMo 141

Lo 142

(2l

Q.ta: 143
N

B
[
D

Q.Mo: 144 Which of the follawing is an example of a plant which reproduce through s bucs?

A
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Evaporation
Transpitation

Precipitation

The joint where the neck joins the head is known as which of the following?
Pivotal Joint

Fixed Joint

Ball and Sockeat Jolnt

Hinge lalnt

Thix pares on the surface of leaves which help to take 15 the carbon dioslde are knovn as which of the following?

Cells

Cytaplasm

Stomata

Nucleus

ot iren.

Gelvenization is the process of depesiting
Qxygan

Sodium

Zinc

Marcury

Which of the following is the active component of the air?
Oxygen

Helium

Mitrogen

Carbon dloxida

Which of the Fellowing is not an abiotic component of vur surrounding ¥
Soil

Air

Microorganisms

Temparature

it
bl
EL)

=¢ Wi Wl T R F e v, PR A E e A e
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T wifly
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2]

QLMo: 145
A

B
C
]

Q.io: 146

2]

Quin: 147

L= S T - I

Q.Mo: 148

o N @ >

QMo 149
A

B
[
o

hitpsfmppek.chexams.comMPPEE_Cand_Objections/kkr_candObjection/ViewCandResponse. aspx

Patatasis
Peas

Beans

Which of the following types of coal is called a8 brown cosl 2mong the following?
Lignita

Peat

Sub-bituminous

Bltuminous

Arnmcnlum hyd:exide 15 found In -

Milk of Magnesia
Windaw deanar
Bananas

Vinegar

Which of the following acids is presentin an ant's &

Lactic acid
Formic acid
Acetic acid

Citric acid

Congider fe rzacton -
Copper sulphate solutien (Hue) + Iren — Lon sulp
‘Whetis the colour of the iran sulphzte scluticn?

12 soluticon + Copper

Elack
White
Green

Brown

The #edes #egypti mosquito can MOT act as a vechor for -
Zika

Dengua

Malaria

Yellaw Faver

P B & i TR S F 4 e w5

fermgz
i
Fu-fagit
Tt
Ao

P W W W T A S S 6 A e i
e o
FIHE s
wfafew s
TARRT o

| e e et

(TR et T b () + A1 — 31U Hetbe ST i + 510
| et el 3 i 1 40 3 Farge

|
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w

AR

TS THET T e T 3R 3 T 6 T A g
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o
st
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€).Mo: L5010 Whizh of the following paising denoting the mixture of gases in air is NOT comect?

A Qxvgen = 20.08%
B Arzen —0.3%
c Carhon dioxide — 0.0353%
] Nitrogen — 78.03%
A geries is given, with one term missing. Choaose the cornect altemative fram the given ones that will complete the series.
Quio: 151
8,15, 28, 53, 7
a 108
B 102
L. 100
o 106
Irt Lhe question balow, sorme lellers are given in Lao ovils, inlersecling each olher The letber(s) given in Lhe inlerseclal porlicn eon ba
used more than ance while sach of the latters outslde tha Intarsacted partion |s to be use anly ance to fom meaningful word(s). 1f no
such ward can be formesd give ') as the answear, and if raore one such wod czn be formed, give *M' as the answer, otherwise the
second letkar of the word will ba the answer,
Quio: 152
g o
! 3
E
(*) )
L /
-
L E
G H
i B
o X
Seled: the cerrect combination of mathematice] sions to replece * signs and to balance the oiven equation;
Q.Mo: 153
71144 % 72 6= 40 * 110
A - ¥ XS
B L
< LR
o X E4e=
QoMo 154 Find the cdd ane cut from the given alteraatives,
A QRTW
B YZBE
Twnn
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i - 20.05%

A -0.3%
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108

10z

100

106
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Four kids B, ), R and S are up on the ladder, P is further up the ladder than O, © is betwean P and R, IF S is further up than

Q.Noz 155 E, who is the third from the bottom?
A s
B B
C P
o Q

In the given figura, which numbser represents how many such advocatas are either actor or doctor, but not both?

Arfr e— ‘ Docter

Advocata
A 75
G Fa
c 8o
=} 83
— Seleet the related number from the given alternatives.
LMoz 15 = e
Q1T 67 160857
LY B1
B 44
LI 55
o 21
I the question helow, some letters are aiven in bwo ovals, Intersecting each other. The letter(s) alven in the intersected porticn can ke
used maore than once while each of the letters outside the inkersected portion is ko be use only onee to farm meaningful werd(s), If no
such word can be formed give X' as the answer, and if more one such wood czn be formed, give *M' as the answer, otherwise the
second letber of the word will be the anawer,
Q.Mo: 158
-~ e B
I i ' K
/ B
[ w [ =
'\ \ ; /
S N m -~
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A 1 1
B x ®
c K K
D T T
Q.io: 15% Find the add number from the given alternatives. ﬁ{l! g femet 71 & e i = o =]
A 1 1
b ¥ v
c 1 1
o o o
Find the missing number in the given analogy: & ar T & e HEZT T L
QHes 180 g 1728 1692 1441 1728 1601 7
A 2197 2197
B 3077 | 2077
c 2079 | 2070
o] 2017 | 2017

W, W, 3, Y and £ are flve friends. v, X and £ are fond of Mange. W, % and ¥ like Apple. ¥, W and £ lke Guava. W, X and 2 like W, i 2 T

QuMo: 181 goncna. v and Y are fond of Orangs, W, Y and 7 like Chicko. Fruits liked by X are Al it 3 o
A Mango, Chickoo, Guava. ! b &I, ﬁ’f, HTEG
B Banana, Chickoo, Apple . d, g, Twren
C Guava, Orange, Banana. TS, M,
o Marge, Apple, Banana. e, g, e
Complete the follawlng seres: TRl el =0y s
funo: 162
Mhz, May, Ofx, P, ? Mhz, Mgy, Ofs, Pow, 7
a Qdv Qdv
B Ren Rtn
E Qrm Qrm
&) Qan Qqn

©Q.Mo: 163 In the question below are given soma statements followed by some conclusicns. You have to take given statements to ba true even if S 7% Tl §% =90 3 955 9% ©o tres £57 T 21 o091 30 7 30l &0 93 TP &, 305 81 3 70 991 § 3
they seem to be zt variance with commaonly known facts. Read all the conclusions nd then cecide which of the given conclusions Ty o (5T Fmim i & G o Y ] S w S T S O FE i w8 A F T E
logiically Tollews Trom the given stalements disregarding o e

YT
Statements: o =

i wfe de
Mo Tullp 15 Rose il aiilds -6l 2
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Me Rose is Orchid T T A SR E

Gnly a faw Qrchids are Jasminas Foreaed:
Conclusions: e . ol A 4
1. Mo Tullp Is Orchid 1. grg iy A §

IL. Some Tulips are Jasmines

o Both conclusions I and II follow Foreed 1 affe 11 gFT mﬁﬂ'ﬂ 7
B Only conclusion II follows e Preed 11 s w5
c anly condlusion I follow e frew 1 SR wE
D Meither conclusion I nar II follows 7 & et 1A # 11 AT S
£.Mo: 164 Find the cdd ane cut fram the given alternatives. | Py o Feaesll 1 4 Frmm o @)
A credit card | ofe g
B Debit card B wrd
c Memaory card T e
5} Bank card |t
From the given responsas, find the missing letber in e serics, - ) ; N ey T fmr & 4 S e Sl w9 W
Sesiies BBD, CDG, DFY, EHM, . BED, COG, DF), EHM,
4 EKP FKP
B pIO pio
c 3] FIP
] FI1Q FIg

I the following question, bwo statements are given sach follewed by bwa conclusions Tand 11, You have to consider the statements to R W T, T A I W L1 A 21 O R ) A e = T S e e 2, g
el e o i & A AR E (B 21T, el 2

be true even if thay seem to be at veriance from cormmaonly knowrs Facks, You have ko decide which of the given conclusions, if any, i e = e - PPy -
fallows from the given statemanis. | AT TF T e o f T P 5w o e, oft @ 8, it faw e gt 3 R &

Statements: :
s e, [ 21
{.Mn: 166 Some notes are coins. i I )

FE - = i
No paper Is note. R 1, e R
e

Canclusion:
1. Fes e 31 s o = aEE )

11, Tt frs, T B

I. Some papers being coins is a possibility.

II. All coins are papers

A Meither conclusion I nar II follows 4t e 1 ol = § 11 SEe W
B Only condusion I follows e v 1 R

C Only conclusion I1 follows e {11 SFER T

5] Both conclusions I and I1 follow it e 1 it T1 argeRw e ¥
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A eeries is givan, with one term missing. Chooss the correct alternative from the given onas that will complete the seres.
Quio: 167
1%, 28, 39, 52, 2, B4

A 39
B 67
i B4
C 52

Ha- 168 Chengu B Mangu ean do a work in 20 & 30 days, Both Logalier slarl the work, Afber sorma days Changu Teit bhe work, The rest work
Q.Na: done by Mangu in L0 days. Afer how many dayes Changu left the werk.
A 8 days
B 2 days
C & days
o 4 days
Na- 169 natshonld comet > of e question merk (Fhin the following question?
Q:Mo: 189 agp-jawis+ 20% of 125
A 25
B 30
C 35
o 40
QNo: 170 Animesh sells two machines at Rs. 3560CU0 each. On one he Gains s anc on the other he loses 104t His Profit or
&ILH : S
Loss petcertage in the whaole transaction is:
A 8% Profic
B 155 Loss
[ Mo Gain Yo 1058
[¥] 1% Profit

Anni and Danni at the same time with speed of 4C lam/fhr and 30 km/hr
Moz 171 respeciively. IF in covering the journey Anni takes 15 minutes l[onger than Banmy,
the tolal dizstarce of the joumey is:

A 43 km
B 52 km
C 50 km
D 40 km
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<7 T AT A T ¥, i e v g v T T e W 4 o e e g o SR A S R
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39

&7

84

53

=7, 3 T
gl e A [
& i
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& fiet
4=

F 20 T 30 & 1 e E by wm g we ) g R e A e W i A e
G M HIED

Frafafe ug £ waardss fae ) F 2F W F 2 9

280+ 14 %13 = 91— 123 T 40%

25
30
35
40

FTAAT 205000 T.A7 A9 1 51 F & 7 S 5| 95 A9 9 S 1000 T A B 5 o g A
T B &, T S Ty T 3 ST o0 91 g W e w

& 7
19 giir
A T A e

1% =T

e TET Fowlr U T T ¥ U 6 T wenn 40 q=1 50 fRvEer & A F Tear
AT FAT | Aol G T RS F wwA § 1S e w1 e ey wa e & gl
Tl gi?

48 fFit

s2 fit

s0 i

40 fft
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Q.ia: 172
A

Mo: 173

Q.o 174

Quio: 175

@

(2l

Q.Mo: 176
A

o

QMo 177

A
B
L

D

A sum of Be. 16 glves 2 slmp’s interest of Rs. 2.52 In 2 years and 3 months. The rate of Interest per annum is:

6 %a

Find the sum af digit of smallest number which when divided by 2, 34, 5 & & leave remainder 1 in each case.
7
B
5

9

& 2
If zzlling price of 2 bag 5 — times 15 oest price, the Profit porcent on it is:

160%
60%
40%
12000

The ratic of mogney with Ram and Gapal 16 7017 and with Gopal and Kelshan 13 7217 1F Ram has R5.490, Krishan has—
Rs. 1150
Rs. 2800
Rs. 2680
Rs. 2330

A 4-digit number Is formed by repeating & 2-digit number such as 2424, 1212 etc. Any numbar of this ferm is always
axactly divisible by ?

11
13
¥
101
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Q.Mo: 178

[ B B

QuMo: 179

oD O m P

QMo 180

A

Q.Ma: 181

™

o on

Q.Mo: 182

Gbrothers divided Bz, 1520 ameng UGiem in such a way thalthe share of secend is equal

5
o e of share of owo combined. What is the share of the second cne?

As. 500
Rs. 540
Rs. 450
Rs. 1170

What should come in place of the question mark (7} in the following questian?
E+a=9+06-9x6-6+a=P="

B

7

2
an

Firal tha largest Mraclion of the fellowing Mractons?
37
72
12
23

A test consists of 2 total of 100 gquestions from three sections QA, LR and WA, All
questions carry equal marks, QA section conkzins 35 guestions, LR section conksins
35 guestizns and VA section contains 30 questions. A student answered 60% from CA
section, 40% from LR section and 50% from VA section correctly. Exactly how mzny
more questizns should hz have znswered correctly to gzt th2 pass percentags of 65%
in the test?

24
is
19
20

In what ratic must a groce- mix bwo varieties of tza worth Rs.50 2 kg and Rs. 65 2 kg so Shat by zelling the mixture

at Ks. 68, 20 a kg he may gair 10%
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T R AT 60 T A e T 65 T O TR a3 o g e S B e 2
T GH. 20 T ST Bral & 90 @7 10% T AT Sl T

. 3:2 3:2
B 4:5 a:5
{ij 3:5 3:5
o 3:4 34
Q.ia: 183 Find the largest fraction of the fellowing fractians? Symedm ot F 3 o At s e
# i7 17

192 192
B 2 =

139 i3z
~ 13 13

261 261
[ - 28

Q.ilo: 184 PR 4 9 e mps w2 gifi-

A Tamref ¥ 3 w1 TR w1 A
B B o e =W

c T e T ot T o A

|5} FF o A S I R

Frm: = T 08 v AW amd A e T A, (B), (C) Sl (D) B BT T R ST T S Y A & R (R S, e, a5, e 3 e W e 00 W 3 o TE §1 TG T T O aps o et T o7 T A g S T e 6
ufl ey fitelE & o) o g Adl o au wi-

Q.Mo: 185
Rt A ) S ARG R He B g
n A
B B
C c
] @t T A
.oz 86, g0 2R 2 AT T E |
A JERERE T T8 3
5 Ead
c "
i b

Quio: La7 AR ¥ R oA e e -
I mirrnmizr
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Qo O|lm P

Q.Mo:

L= T o B -

Q.Ma:

[al

@ O

[a]

Q.Ma:

A

oz

,_.
0
ford

193

o
ST
i

TR # & ofe T v s wih-
T
g
wireft
i

g v &, R e o sifee v e g sl v e o S i e ot war
& W

TR T

At W

ST T

TR T o w1 S T T 8
T TET 3 W offE ¥ A g AR

TR T S WS, M T

ot it foret gt st Wt B

et e gt sy fisfy oo it &)

v, gall, B, g 0 werd dg B v o e 8 agl gasi g
AT W
AT W
AT
TR Wl

bt e e e i o B 8 e e B R e R v
el - e i

uEe -y

erergr — frandh

ST — ameEr

el 8 4 andopg® w0 yefusid s e 37

Lo

anfim
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Quio: 194 FrefEa # E pET T F TEmE A8

A FEAE
B T
[+ AR
o ST e

Q.MNo: 195 WEEATTE qur RREmiE s o S ot g b s R § 9 et g wewe g gy

) A R

B s g

c e R -
] ouf Ramr

Q.o 196 PO 3 W e 1 w0 S

A ST B o W T T T

B I TIHE GIE TET T

G S TR Hi E

o T A s R g

Q.na: 197 FHyelafEe 36 g e e < ape g 3

A =R T EWET|
B e e S
C TR T AL T
=} T T A
Quilor 198 P 7 3 e e 1| o w3
A -
B =
c g
D i
Q.Ma: 199y 89 e g § A 3
A B
B i
forr=

hitpsfmppeb.chexams.comMPPEE_Cand_Objections/kkr_candUbjection/ViewCandResponse. aspx 36/ar



& s
D T

T T £ e e & T Sae & T S

Q.io: 200

A afe ot areft ZH7 o e AR andt ghit
B o =g 1

c = b o wa o s

o w6t A
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